

Exercices d’algorithmique






5. Hypothèse de tri par insertion


Trier ( n ) = insérer ( n , Trier ( n- 1 ) )


Trier ( 0 ) = « rien à faire »


void trier ( int n )


{




if( n != 0 )



{





Trier ( n- 1 ) = ;




Insérer ( n ) ;



}


}


Void Insérer ( int x )


{




int i = x – 1 ;



int y = T[x] ;



while( y < T[i] && i != 0 )



{




T[i+1] = T[i] ;




i = i – 1 ;



}



if( y < T[i] )
T[I+1] = y ;



else

{

T[1] = T[0] ;

T[0] = y ;



}


}

6. Hypothèse de Tri par fusion 


Si m ( n 


Trier ( m , n ) = fusion ( Trier( m , (m + n ) / 2 , Trier(( m + n) / 2) + 1 , n ) ) 

Si m = n


Trier( m , n ) =  “Rien à faire“

Void Trier ( int m , int n )

{



if( m != n )


{



Trier ( m, ( m+n) / 2 ) ;



Trier(( m + n ) / 2 +1 , n )  ;



Fusion( m,(m + n ) / 2 , n ) ;


}

}

Void Fusion( int x , int y , int z )

{



int i = x ;


int j = y + 1 ;


int k = 0 ;


while( i < = y && j < = z )


{



if( T[ i ] < T[ j ] ) Aux[ k ++ ] = T[ i++ ] ;



else Aux[ k ++ ] = T[ j++ ] ;


}


for( int l = i ; l < = y ; l ++ ) Aux[ k ++ ] = T[ l ] ;


for( int l = i ; l < = j ; l ++ ) Aux[ k ++ ] = T[ l ] ;


… 

}
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